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OA Proofs for Section [I

Proof of Lemma [I,  Before we begin, as a matter of notation, when we consider the
concatenation hy U h, = (x°,d®)s<4, of two histories hy and h,, with h, = (X%, (~15)S<T, then
for all s = 0,...,7 — 1 we take (x'+5,d"**) to be (P,(x*),d®), where 2 is the status quo at
time t under the history h;.

Fix an SPE o and a history h, with status quo z = z(h;). Consider strategy profile &
such that, for i = 1,2 and for each history h,, 6;(h,) = o;(h;Uh,). Assumption guarantees
that ¢ is a SPE of the game. We now show that, for i = 1,2,

Vi (he) = 24+ (1= 210 = 2) V7 (o).

Suppose for a contradiction that the result is not true. Then there exists ¢ > 0 and
j € {1,2} such that |V;7(h) — z; — (1 — 21 — 22) V7 (ho)| > €. Pick T such that (1 —6)é" <
¢/4. Consider strategy profiles o7 and 67 such that: (a) for all histories h, with s < T,
oT(hy U hy) = o(hy U hy) and 67 (hs) = 6(hs), and (b) for all histories h, with s > T, both
players reject all proposals at history h; L h, under o7, and both players reject all proposals
at history h, under 67 [f]

Since (1 — 0)67 < €/4, for i = 1,2 we have |[V7(hy) — Vo (h)| < €/4 and |V?(hg) —
V7" (ho)| < €/4. Therefore, since (V7 (hy) — 2z — (1 — 21 — 22)V{ (ho)| > €, we have

|‘/jUT<ht) —Zj — (1 — 21 — Zg)x/j&T(h()N > 6/2

For each history hp of length T, let (V" (hr))iz12 (resp., (V' (hy U hy))iz12) denote
players’ continuation payoffs at history hy under 67 (resp., at history h; U hy under o7).
Let z(hr) denote the status quo under history hp, and z(h; U hr) =z + (1 — 21 — 22)z(hr)
the status quo under history h; LI hy. Note that:

V' (hr) = probyg,,(x € A% (hg))Eypli|x € A% (hy)]
+ (1 - prObz(hT)<X c A&(hT)))Zi(hT),
where A%(hr) is the set of policies that both players accept under &, and where the equality
follows since policy doesn’t change after time 7" under 67. Similarly,
‘/ioT(ht LJ hT) = prObZ(htUhT)(X & Ag(ht LJ hT))Ez(htuhT)[$i|X - AGUZT LJ hT)]
+ (1 = prob,,. . (x € A7(he U hy)))zi(hy U hr)
= prob, .y (x € A7(hr))Eyn[2i + (1 — 21 — 22)xi|x € A7 (hr)]
+ (1 — prObz(hT)(X S AU(hT)))(ZZ + (1 — 21 — Z2)Z7,(hT))
=z + (1= 2 — )V (hr),

where the second equality uses Assumption

'We stress that o7 and 67 need not be equilibria of the game.
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Suppose that Vo' (hy U hy) = 2 + (1 — 2, — 2,)V? (k) for histories h, of length s =
T+ 1,....,T. Consider a history h, of length 7. Let z(h,) be the status quo under h,, and
z(hy Uh;) =2z + (1 — 21 — 22)z(h,) the status quo under hy U h,. For each x € X, let hX
denote the history of length 7+ 1 that follows A, if policy x is implemented at time ¢. Then
VI (hy) = probyg, (x € A7(h, )y (1 — 8)z; + V7" (h%,) x € A7 (1,

+ (1 = probyg,  (x € A”(h)))((1 = 8)zi(hy) + Vi7" (W)
Similarly,

Vo' (hy U ) = probyg, . (x € A7(h, U b)) x
X Boneny [(1 — 8)z; + 0V (hy U RE,)|x € A7 (hy U h,)]
+ (1= proby s, (x € A7(hy Uhe))((1 = 0)zi(hy U he) + 6V (hy URZ())
= prob,, (x € A% (h,))x
X By 2+ (1= 21 = 22)((1 = 8)ai + 6V (W) |x € A% (hy)]
+ (1 — prob,, y(x € A7(h;))x

X (2 + (1= 21 — 22)((1 = 0)zi(he) + 0V (W) = 2+ (1 — 21 = )V, (hy).
Hence, V7' (hy) — 2 — (1 — 2, — 2)V;? (ho) = 0, a contradiction.
In the case of RME, the same contradiction follows if we take 6 =c. N

OB Proofs for Section ITI

Proof of Lemma [3] ~ We start with part (i). For each z € X, E,[-] is the expectation
operator under distribution F,. Let E[-] be the expectation operator under distribution
Fo = F. We prove the result by induction.

Consider a subgame starting at period ¢t = T with status quo z/ =z € X. Note that

Vi(z, T;T) = Eyz;] = zi + (1 — 21 — 22)E[xy],

where the first equality follows since, at time T both players accept any policy, and the
second equality follows from Assumption [I}
Now, consider the game with deadline 7" = 0. Player ¢’s equilibrium payoffs satisfy
W;(0) = E[x;]. Hence,
Vi(z, T;T) = 2z + (1 — 2z — z;) W;(0)
which establishes the basis case.

For the induction step, suppose that holds for all ¢t such that T—t =0,1,....,.n — 1
and for all z € X. Fix a subgame starting at period ¢t with T'— ¢t = n and with status quo



z' = z € X. We abuse previous notation and in this proof let A, (%) be the set of policies
that both players accept at period ¢t when z! = z; that is,

A(t)={xeX(z): (1 -8z +0Vi(x, T+ 1;T) > (1 — 8)z + Vi(z,t + 1, T) for i = 1,2}
={x€eX(@): (v;—2z)> (w1422 — 21+ 2)0W;(T—t—1) fori =1,2},

where the second line follows since, by the induction hypothesis, holds for t = t+1. Note
then that

Vi(z,t;T) = prob(x € A,(t))E, [(1 — 0)z; + 6Vi(x, T+ 1;T) |x € A,(1)]
+ prob(x ¢ A,(f)) (1 — 8)zi + 6Vi(z, T + 1;T))
= prob(x € A,(1))E, [z; + (1 — x1 — 22)dWi(T —t — 1) |z € A, ()]
+ prob(x & Ay(B)) (2 + (1 — 21 — 2)dWi(T — 7 — 1))
= prob(x € A,(1))E, [(xl —2) 4+ (21 4+ 22 — 11 — 1) OW(T — £ — 1) ‘x S Az(f)]
+ 2+ (1 — 2y — 20) W (T —t — 1) (01)
where the second equality follows since, by the induction hypothesis, (| . holds for t = + 1,
and the last inequality follows since prob(x ¢ A,(t £)) = 1 — prob(x € A,(1)).

Consider next a game with deadline T —¢. Let A be the set of policies that both players
accept at the first period of the game:

A= {xeX:(1-0)x;+0Vi(x,1;T —1t) >6V;(0,1; T — ) for i = 1,2}
={xeX:z; > (v1+x2)0Wi(T —t—1) fori=1,2},

where the second line follows since, by the induction hypothesis, for all Vi(x,1;T —t) =
z; + (1 — 2; — z;)W;(T — t) for all x. Player i’s payoff in this game is equal to

W(T — i) = prob(x € A)E [( )z OVi(x, 1, T — 1) )x e A] + prob(x ¢ A)8V,(0,1; T — 1)
= prob(x € A)E [z — (21 + 2)0Wi(T — 1= 1) |x € A] + OWH(T == 1) (02)
Assumption [T] implies that
prob(x € A, (1)), [z; — 2z + (21 + 20 — 21 — 22)0Wi{(T —t — 1) |x € A,({)]
=(1— 2 — z)prob(x € A)E [:E, — (21 + 22)OWH(T —t — 1) ’X € A} :
Combining this with and ,
Vi(z,t;T) = zi + (1 — 21 — 20)Wi(T — ).

which establishes the result.
Now let us turn to part (ii). The proof is again by induction. Consider the game with
deadline T" = 0. Since it is optimal for both players to accept any alternative x € X that
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is drawn, player i’s payoff in this game satisfies W;(T) = E[z;] = ®;(0). Suppose next that
Wi(r) = ®7*4(0) for all 7 = 0,...,7 — 1, and consider game with deadline 7. The set of
alternatives that both players accept in the initial period are given by

A={xe X :(1 -8z +6Vi(x,1;T) > 6V;(0,1;T) for i = 1,2}
={xeX: x> (x1+x)0W;(T — 1) for i = 1,2},

where the second line follows from part (i). Player ¢’s payoff W;(T") satisfies
W(T) = prob(x € A)E [(1 —8)s + 8Vi(x,1;T) ‘x € A} + prob(x ¢ A)§V;(0,1;7)
— prob(x € A)E [:17Z — (21 + 29) W (T — 1) ‘X € fl} +oWi(T' —1) (03)

where the equality follows after using part (i). By the induction hypothesis, W(T' — 1) =
®7(0), and so A = A(®T(0)). Using this in (O3)), W;(T) = ®(®7(0)) = o771(0). H

Proof of Proposition We start with part (i) and recall various facts from the proof
of Proposition . First, recall that V° is the smaller of the two solutions to the quadratic

equation %gﬂ = V?, where g € (0, i) Also from the proof of Proposition , for

-5
1,7 =1,2,1+#7, Bd;fv(VW) is given by (A3]) and lies in the interval [6 — §5(1 —0(Wh + Wh)), 4]

8%%,([,W) is given by (A4l and lies in [—%5(1 — §(W1+Ws)), 0]. The proof of Proposition
also showed that for all § > § and all W € Y?, % >0 > %. Finally, it showed

that for all § > § and all W € Y?, & (W) € Y?.

Now fix § > §. Towards establishing the result, we first show that if W € Y?°, then
(®2)T(W) converges to a fixed point of ® as T — oo. To see why, fix W € Y?, and let
{W'}22, be such that, for t = 1,2,..., W! = (®°){ (W) = (®°)(W*!). Note then that
W' e Y7 for all tF]

There are two cases to consider: (a) there exists s > 1 and ¢ = 1,2,7 # j such that
We > Wy and W < W2 and (b) for all s > 1, either W3 > W™! and W5 > W5~ or
We < Wit and Wy < Wit

Consider first case (a), so there exists s > 1 and i = 1,2,7 # j such that W > WS and
W; < VVf’l. Since ®¢(W;, W) is increasing in W; and decreasing in W; whenever W € Y?,
it follows that W "' = ®;(W*) > &;(W*"!) = W and W' = &;(W*) < (W) = W7,
Applying the same argument inductively, we get that {W/} is an increasing sequence and
{Wf} is a decreasing sequence for all t > s. Since W' € X for all t, W' converges to some
W*ast — oo.

Consider next case (b). Fori,j = 1,2, # i, define

while

M, ; == sup
Wwey?

i)
oW

oD} (W)
oW,

2For this proof, we don’t need Assumption [3|to hold, and we also don’t need g> %’y.
3Indeed, for all § > § and all W € Y9, ®(W) € Y.
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Note that, for § > §, we have that M;; € [0,0] and M, ; € [0, ] E| Recall that, in this case,
for all t > 1, eltherWt>Wt 1f0rz—120rWt<Wt 1forz—12 SlnceCID(W)
increasing in W; and decreasing in W, for all t > 1 and for 7 = 1, 2, we have

Wi — W =) (W') — & (W'
_ 4 t 1 t—1 t 4 t—1 t [ t—1
= [®7 (W) — @ (Wi, W) + @7 (W; ", W) — (W)
< max{|®F (W) — @ (W1 W))[, |@2 (W', W)) — @2(W' )}
< max{M;;, M; ; }[|W' — W' 1|
< 6||Wt - Wt_1||7
where the first inequality follows since ®¢ is increasing in W; and decreasing in W;. Hence,
{W'} is a Cauchy sequence, and so it is convergent.
We now show that the finite-horizon games are convergent whenever § > 9. Fix § > 0.
There are two cases to consider: (bi) ®°(0) € Y?, and (bii) ®°(0) ¢ Y. Consider case (bi).

By our arguments above, W (T') = (®°)T(®°(0)) converges as T — oo.
Consider next case (bii), so that ®°(0) ¢ Y. By equation (A2)), for all W we have

DY W) + DY(W) — (Wy + Wa) > 6(Wy + W) + ég(l — (W + Wy))? — (W) + W)

+ =(f — 9)(1 — 6(Wy + Wa))?. (04)

o&lr—\

For all W € X\Y?, we have that
1
5(W1 + Wg) + gg(l — 5(W1 + WQ))2 > Wi+ Wa.
Using (O4)), for all W € X\Y?° we have

BYW) + DYW) — Wy +W5) > (f — g)(1 6, + W))* > 1(f —g)(1 — )"
where the last inequality follows since Wy + W, < 1. This implies that, when ®(0) ¢ Y?,
there exists ¢ > 1 such that ®((®%)(0)) + ®((®)1(0)) > V°. Hence, by our arguments
above, (®%)(0) converges as s — oo, and so the games are convergent.

Consider next part (ii). Note that when F' is symmetric, both players have the same
equilibrium payoffs for all deadlines, i.e. Wi(T) = Wa(T) for all T > 0. Let W(T) =
W1 (T)+W,(T), and note that W (T) = 7+1(0) (where ¥ is the operator defined in equation
@®.

For any W € [0, 1], define

H(W) := prob(x € A(W))E[z; + z2|x € A(W)],

“For all 6 > § and all W € Y, § — f25(1 — §(W1 + W2)) > 0 (see Step 2 in the proof of Proposition
. Since aqgv(VW) ed- %5(1 — (W1 + Wa)),d] and %V([ZV) € [—g&(l — (W1 + W3)), 0], we have that
M, ; €[0,6] and M, ; € [0,6] for all § > 4.




so that ?(W) = §W + HW)(1 —A5W). Note that H'(W) < 0. Indeed, W” > W’ implies
that A(W") Cc A(W’), so for any W"” > W',

prob(x € A(W")E[z; + x2]x € A(W")] < prob(x € A(W")E[z; + z|x € A(W")).

It then follows that (W) =4(1 - H(W))j— H'(W)(1 - 5I/T/) < < 1 forall W e [0,1].
When W/(W) > —1 for all W € [0,1], [¥/(W)] < 1 for all W € [0,1]. This implies that ¥

is a contraction, and the sequence {W(7T)} converges to its unique fixed point. Hence, the
games are convergent. M

Proof of Proposition [6 First we prove that if F' is symmetric, then the fixed point of W
is unique. Operator ¥ is continuous and maps [0, 1] onto itself, so by Brouwer’s fixed point
theorem, it has a fixed point.

Let W be a fixed point of U. Then, W satisfies

A A

W= prob(x € A(W))E[x; + xq2|x € A(W)] (05)
1 — 6+ dprob(x € A(W))]E[SC1 + xalx € A(W)]

Note that A(W") C A(W’) for any W” > W’. Therefore, for any W” > W,
prob(x € A(W")E[z; + z5]x € A(W")] < prob(x € A(W")E[z; + z|x € A(W")).

Thus, the right side of is decreasing in W, and so ¥ has a unique fixed point.

Next, the sum of the players’ equilibrium payoffs in a game with deadline 7' is W(T) =
UT+1(0). By standard results in dynamical systems (e.g., Theorem 4.2 in ?), under condi-
tions (i) and (ii) in the statement of the proposition the sequence {W (T')} does not converge.
So the games must be cycling. W

OC Proofs and Details for Section TV]

OC.1 Proofs for Stated Results

Proof of Proposition We start with part (i).

Fix A € [0, 1], and let W), be the largest fixed point of I1*(-). We start by showing that
there exists an SPE ¢* in which the A-weighted sum of players’ payoffs is W,. Strategy
profile o* is as follows. Along the path of play, at each period t with status-quo z, player
1 = 1,2 accepts policy draw x € X if and only if

)\.Il + (1 - /\)IQ + 6(1 — X1 — ZEQ)W)\ Z )\Zl + (1 - )\)ZQ + 5(1 —Z1 — ZQ)W)\
which is equivalent to

)\(Il — Zl) + (1 — >\)(:U2 — 22) > (5(171 + o — 21 — ZQ)W)\.



If at any period t a player rejects a policy that was supposed to be accepted, then from time
t + 1 onwards both players reject all policies. Note that the payoff player ¢ obtains from
rejecting a policy at time ¢ that should have been accepted is zf. Since her continuation
payoff at time ¢ from playing according ¢* is weakly larger than 2!, this strategy profile
constitutes an SPE. Moreover, players’ A-weighted sum of payoffs under o* is W,. Hence,
Uy > W,.

Next, we show that Uy < W,. Fix ¢ € X, and let A?(hg) denote the set of draws that
both players accept under o at history hy. For each x € X, let A§ denote the history that
follows hyq if x is drawn and both players accept it. Then,

AVY (ho) + (1 = M)V (ho)
=prob(x € A7(ho))E7[(1 = 0)(Azy + (1 = A)w2) + 6(AVY (hG) + (1 = MV (hg)[x € A%(ho))]
+ dprob(x ¢ A7 (ho) JE[AVY (h1) + (1 = \)V5 (ha)[x ¢ A? (ho)] (06)

By Lemmall] for any x € X it must be that AV (k%) + (1 — \)Vy (h¥) < (Azy + (1 — N)za) +
(1 — z1 — 22)Uy. Therefore, by (O6),

AVY (ho) + (1 = AV (ho)
<prob(x € A7 (ho))E?[Axy + (1 — N)ap — (21 + 22)0Ux|x € A7 (hg)] + 06U,
<prob(x € A\(U\)E’[Az1 + (1 — N2y — (21 + 22)0Us|x € A\(UN)] 46U = TN (U,), (O7)

where the second inequality follows since A)(Uy) = {x : Ax1 + (1 — N)xg > (21 + 22)0U,}.
Since (O7)) holds for any SPE o, it must be that U, < ITI*(Uy).
Finally, we show that II*(U) < U for all U > W,. To see why, note that

IT*(1) = prob(x € Ay(1))E7[Azy + (1 — N)zg — (21 + 29)d|x € Ax(1)] +6 < 1,
where the strict inequality follows since, for all x € X,

Towards a contradiction, suppose that there exists U > W, with II*(U) > U. Since W)
is the largest fixed point of ITI*, it must be that II*(U) > U. Since I1*(1) < 1, and since
I1* is continuous, there exists U’ € (U, 1) such that II*(U’) = U’, a contradiction. Hence,
IMU) < U for all U > Wy. Since Uy < ITNU,), it follows that Uy < Wj.

Now for part (ii). For § < 1 and A € [0, 1], let U denote the largest fixed point of IT*
under discount factor . To prove the result, we show that for A € {0,1}, lims_,; U = 1.
Note that this implies that payoffs (1,0) and (0,1) both belong in lims_,; V°. Since 0 € 1°
for all 6 < 1 (because the game has an SPE in which both players reject all offers), we have
that lims_,; V° = X.

Fix A = 1 (the proof for A = 0 is symmetric and omitted). For each § < 1, U} solves:

B prob(x € AY(U?))E[x,|x € AS(U?)]
11— 6+ prob(x € AJ(UN)E[z; + x2x € AJ(U?)]

Ul (08)



Fix a sequence 0, — 1, and suppose by contradiction that lim,, Uf" =k <1 (if
needed, take a convergent subsequence). Note then that A" (U") — A* = {x € X : z; >
(x14+x9)k}. Since k < 1, and since f has full support, set A* has positive measure. Moreover,
since f has full support, E[z; 4+ 22|x € A*] < tE[z1|x € A*]ﬂ Using this in (O8], we get

SO(770 S(TT76
k= lim U} = lim prob(x € Al((sUl )2E[$1|X € Aj(U7)] __
n—y00 n—oo 1 — § + prob(x € AY(UY))E[x1 + xo|x € AJ(UY)]
E[z|x € Ajf] Elr|x € A}]

E[z1 4+ 29|x € A*] 7 1E[x]x € A*] ’

a contradiction. Hence, lims_,; Uf =1. N

Proof of Proposition [8} Note that in this case RME payoffs are a fixed point of operator
®: X — X, with &; now given by

®,(W) = prob(x € A(W))E[z; — (21 + x2)0;Wi|x € A(W)| + 6; WV,

where .
A(W) = {x eX:fori=12 x> 1_—Wx_,}.

Proposition [Ifii) extends to this environment. When Assumption [3| holds, there exists
6 < 1such that, if 07 > 09 > ) , the game has unique RME payoffs. Moreover, as we showed in
the proof of Proposition [, when players’ discount factors are sufficiently high, RME payoffs
are given by limy_,., ®7(0)

Fix & > &y > 0, and let Wo = (W7, WJ) denote the players’ unique RME payoffs.
We first show that W7 > W¢. Define the sequence {W”} with WT = &7(0) for each
T =1,2,..., and note that limy_,., WT = W. Note that, for i = 1,2, W}l = &;(0) = E[x,].
Since distribution F' is symmetric, Wi = Wj.

Next, suppose that W > WJ. We now show that this implies that W' > W]
Indeed, note that

W1T+1 _ W2T+1 — (I)l(WT) _ (I)Q(WT)
= prob(x € AW))E[z; — z2|x € A(WT)]
+ (W] — 6,W5) (1 — prob(x € AWT)E[z; + 29|x € A(WT))).
Since F is symmetric and since W[ > W], we have prob(x € A(WT)E[(z; — zo)|x €

A(WT)] > 0. Moreover, using prob(x € A(WT))E[(x; + z2)[x € AWT)] < 1, Wl > W]
and d; > d, we have

(W — 5, W) (1 — prob(x € AWD)E[(zy + z2)[x € A(WT)]) > 0.

®Indeed, for any x € A*, 1 > (21 + z2)k, and so x1 + 2 < %:z:l. Since f has full support, E[z + xz2|x €
A*] < 1E[z:]x € A%].

6While the proof of Proposition [5|is written for the case of equal discounting, the arguments can be
readily extended to the case of unequal discounting.



Hence, W[t > WSt Together with W} = W3, this implies that W¢ > Wy
Next, since W7 is a fixed point of &, we have

W7 — W35 = prob(x € A(W?))E[z; — z3]x € A(W7)]
+ (0 W7 — 5.W5) (1 — prob(x € A(W)E[x; + 22|x € A(W7)])
= prob(x € A(W7))E[z; — 22|x € A(W7)]
+ 6 (WY — W3)(1 — prob(x € A(W7))E[z1 + 22|x € A(W7)])
+ (01 — 02)W3 (1 — prob(x € A(W?))E[z1 + 23|x € A(W7)])
> 6 (W7 — W3 )(1 — prob(x € A(W?))E[x; + 22|x € A(W7)])
+ (01 — 62)W3 (1 — prob(x € A(W?))E[z1 + x2|x € A(W?)]),

where the last inequality uses E[(x; —22)|x € A(W7)] > 0, which holds since F' is symmetric
and since W{ > WJ. By the inequality above,

d; — 02)W7 (1 — prob(x € A(W?))E[z; + 22|x € A(W7)))
1 — 01 + d1prob(x € A(W?))E[z; + z3|x € A(W?)]

Using H(W) = prob(x € A(W))E[z; + z2]x € A(W)], this is equivalent to the inequality
stated in the proposition. W

Wf—W;z(

OC.2 Details for Strategic Search

In this appendix we flesh out the extension described in Section [[V.C] We make the following
assumptions on the sets of distributions Fy. First, for all x,y € X, card(Fx) = card(Fy);
i.e., all the sets Fyx have the same cardinality. Second, for all x € X and all Fy € F, with
density fx, there exists F' € F = F(g0) with density f such that f«(y) = mf(Px(y))

for all y € X(x). We further assume that there exists f > f > 0 such that, for all f € F,

f(x) € [f, f] for all x € X. Note that these assumptions are a generalization of Assumptions
[ and 2 to the new environment.

Fix an RME o. For each z € X, let V,7(z) be player ¢’s continuation payoff under o when
the status quo is z and let W/ be player i’s payoft at the start of the game under o. The
following result extends Lemma [l| to this environment. The proof is identical to the proof of
Lemma [} and hence omitted.

Lemma OC.1. Fiz an RME 0. For all z = (21,29) € X,
V;U(Z) =2z + (1 — 21— ZQ)WiU. (09)

Lemma can be used to obtain a recursive characterization of RME payoffs. Fix an
RME o. As in our baseline model, under o player i approves a policy x = (z1,x2) € X(z)
when the status quo is z only if

(1= 8)a; + 6V (x) > (1 — 8)2 + 6V (2)

10



which, using Lemma [OC.I], becomes

i+ (1 =2y —x0)0WF > z; — (1 — 2p — z9) WY,
Thus, player 7 accepts policy x when the status quo is z only if

x€ A, (W) ={x€X(2):2; >l ,(v_;|]W])},

where 0; ,(x_;|W7) is defined as in the main text. For any pair of payoffs W = (W, W)
and for any z € X, the set A,(W) defined in the main text is the set of policies that are
accepted by both players when the status quo is z, and A(W) is the acceptance set at the
start of the game.

Now suppose player ¢ = 1,2 is recognized to choose the distribution from which the
policy will be drawn at the initial period. If player ¢ chooses distribution F' € F, she obtains
payoffs equal to

probp(z € A(W))Ep[z; — (21 + 22)dW;|x € A(W)] + dW;.
For any W € X and for i = 1,2, let
Fy ,; € arg r}lg}(probF(x € AW))Ep[z; — (z1 + 29) Wi|x € A(W)],

and let Fyy = 1F{§V71 + %F{zkv,z- Note that the initial period policy is drawn from distribution

2
Fyy.
Define the operator ®° : X — X as follows: for i = 1,2 and for all W € X,

PF(W) = probp. (v € A(W))Erg, [z — (21 + 22)0Wilx € A(W)] + 6W.

Let W™ denote the players” RME payoffs at the start of the game. The following result
extends Proposition 1| to the current environment — the proof uses the same arguments as
the proof of Proposition [I} and hence we omit it.

Proposition OC.1. An RME exists, and the players’ equilibrium payoffs under an RME
are a fized point of ®°.

This characterization of equilibrium payoffs can be used to generalize the main results
in the main text to the current environment. First, any RME features inefficient delays.
Second, the acceptance regions are nested, and the distribution over long-run outcomes
that an RME induces at a subgame starting with status quo payoff z has support equal to
{x € X : 21+ 2z =1} N A,(W). Therefore, RME also display path-dependence. It can
also be shown that Proposition (4| continues to hold in this setting, so the RME outcome also
becomes deterministic in the limit as § — 1/[]

"The proofs of all of these results are available upon request.
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